RE7TAN XFX E#EE (x+a)? 01

1. RORZHREEE L. (SH12, AfK20#, B35, C#k14)

(1) 22 +2x+1 (2) 22 —4dx + 4

(3) 224+ 6x+9 (4) 2% — 8xy + 1632

2. ROXZERESFEEL. (S0, AK30®, Bik14, CHk230%)

(1) 22+ 24z + 144 (2) 22 — 16zy + 64y2
(3) z? — 32z + 256 (4) 422 + 12249
(5) 22—z + % (6) 2 —0.4zy + 0.04y>
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3. ROXZHREIMEL. (SH12F, A28, B35, C#1)

(1) 2?2 —2zy+9? (2) 2% +day + 492

(3) % — 6xy + 9> (4) 22 +8x+ 16

4. ROXZEHBOARE XK. (S0, A3, Bik14, CH25308)

(1) x? — 22z + 121 (2) 22 — 20zy + 100y?
(3)  x?—36x+ 324 (4) 922 —12x+4
(5) x4+ xy + %yQ (6) 22 + 0.6zy + 0.09y2
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R#TAS XFHX BEHBSE (z+a)? 01 HREREHR

1. RORZHREEE L. (SH12, AfK20#, B35, C#k14)

* a? + 2ab + b%? = (a + b)?
* a? — 2ab + b? = (a — b)?

(1) 224+ 2x+1 (2) 22 —dx+4
=(z+1)? =(z —2)?

(3) 224+ 6x+9 (4) % — 8zy + 16y>
= (z+3)? = (z — 4y)?

2. ROAEHREBOEE L. (SHT208, AfK30®, Bik14, C#H2330%)

(1) 2%+ 242 + 144 (2) 2% — 162y + 64y
= (z +12)? = (z — 8y)?
(3) 2% — 32z +256 (4)  4a®+122+9
= (z — 16)? = (2z + 3)2
(5) 22—z + % (6) 2 —0.4zy + 0.04y>
2 2
2
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3.

4.

ROX % RB e k. (S 128, Afk20%, Bik35®, 1)
(1) 2?2 —2zy+9? (2) 2% +day + 492
=(z—y)? = (z + 2y)?
(3) 2% — 6y + 9y> (4) 22 + 8z +16
= (z — 3y)? = (z +4)?
ROXZ KRB EE L. (SH20, A#K30%, Bik1y, C#2530%)
(1)  2?—22z+121 (2) 2% —20xy + 100y>
= (z —11)2 = (z — 10y)?
(3) 2 —36x+324 (4) 922 —12x+4
= (z —18)? = (3z — 2)?
(5) 2 +ay+ %yQ (6) 22+ 0.6xy + 0.09y>
1 )\? = (z + 0.3y)?
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